CALCULATING AP PSYCHOLOGY SCORES


· The Multiple Choice (MC) section is worth 100 points, or approx. 66% of the exam score.
· Note:  Some MC scores are weighted due to omitted questions.
· Each FRQ is worth 25 points.  Together they are worth 50 pts, or 33% of the exam score.
· Note:  While each FRQ may initially be worth different points (e.g. 8 & 10 points), they are weighted the same.  A separate multiplier is applied to each, so that each FRQ is ultimately worth 25 points.
· Shoot for 70 on the multiple choice and half the points on the FRQ to “pass”.
· Note:  As of 2012, there is no longer a ¼ penalty for incorrect multiple choice answers.
EXAMPLES FROM PRIOR EXAMS (with penalty for incorrect answers):
· Based on test scores, the 1994 exam was considered an easier test.  Therefore, the composite score chart was modified (normalized) upwards (more difficult to get a higher grade).

· The 1999 exam was considered difficult.  Therefore, it was normalized to make it easier to pass.
· The 2004 exam was considered moderate.  No normalization.

· Each example below assumes that students guessed on all questions and left none blank.

1994 Exam (“Easy” Exam)
	AP Grade
	Composite Score (Multiple Choice & FRQ)

	5
	150-105

	4
	104-88

	3
	87-71

	2
	70-52

	1
	51-0


1994 Composite score calculations:
· Multiple Choice score  =   [# correct - (# wrong * ¼)] * weight modifier (1.0204)
· FRQ 1 = Pts out of 10 * 1994 weight modifier (1.05) * 1994 FRQ weight modifier (2.3810)
· FRQ 2 = Pts out of 11 * 1994 weight modifier (0.9545) * 1994 FRQ weight modifier (2.3810)


1994 Example 1:

· Assume:  MC:  70 right & 30 wrong:
[70 – (30 * ¼)] * 1.0204 = 63.775

· Assume:  FRQ 1:  5 pts out of 10:
5 * 1.05 * 2.3810 = 12.50025
· Assume:  FRQ 2:  5 pts out of 11:
5 * 0.9545 * 2.3810 = 11.3633225
· Total = 63.775 + 12.5 + 11.36 = 88 (Passing – Barely a 4)

1994 Example 2:

· Assume:  MC:  61 right & 39 wrong: 
[61 – (39 * ¼)] * 1.0204 = 52
· Assume:  FRQ 1:  4 pts out of 10:
4 * 1.05 * 2.3810 = 10
· Assume:  FRQ 2:  4 pts out of 11:
4 * 0.9545 * 2.3810 = 9
· Total = 52 + 10 + 9 = 71 (Passing – Barely a 3)

The average student earned a 6 on FRQ 1 and a 4 on FRQ 2.  That translates into a total of 24.09 points from that section.  Add that to your MC score to see your total.

1999 Exam (“Difficult” Exam)

	AP Grade
	Composite Score (Multiple Choice & FRQ)

	5
	150-93

	4
	92-72

	3
	71-53

	2
	52-34

	1
	33-0


1999 Composite score calculations:

· Multiple Choice score  =   [# correct - (# wrong * ¼)] * 1999 weight modifier (1.0204)

· FRQ 1 = Pts out of 8 * 1999 FRQ weight modifier (3.125)

· FRQ 2 = Pts out of 10 * 1999 FRQ weight modifier (2.5)


1999 Example 1:

· Assume:  MC:  70 right & 30 wrong:
[70 – (30 * ¼)] * 1.0204 = 63.775

· Assume:  FRQ 1:  4 pts out of 8:

4 * 3.125 = 12.5
· Assume:  FRQ 2:  5 pts out of 10:
5 * 2.5 = 12.5
· Total = 63.775 + 12.5 + 12.5 = 89 (Passing – High 4)

1999 Example 2:

· Assume:  MC:  61 right & 39 wrong: 
[61 – (39 * ¼)] * 1.0204 = 52

· Assume:  FRQ 1:  3 pts out of 8:

3 * 3.125 = 9.375
· Assume:  FRQ 2:  4 pts out of 10:
4 * 2.5 = 10
· Total = 52 + 9.375 + 10 = 71 (Passing – High 3)

The average student earned a 4 on FRQ 1 and a 2 on FRQ 2.  That translates into a total of 17.5 points from that section.  Add that to your MC score to see your total.

2004 Exam (“Moderate” Exam)

	AP Grade
	Composite Score (Multiple Choice & FRQ)

	5
	150-103

	4
	102-84

	3
	83-65

	2
	64-45

	1
	44-0


2004 Composite score calculations:

· Multiple Choice score  =   [# correct - (# wrong * ¼)] * 2004 weight modifier (1.0)

· FRQ 1 = Pts out of 8 * 2004 FRQ weight modifier (3.125)

· FRQ 2 = Pts out of 8 * 2004 FRQ weight modifier (2.5)


2004 Example 1:

· Assume:  MC:  70 right & 30 wrong:
[70 – (30 * ¼)] * 1.0 = 62.5
· Assume:  FRQ 1:  4 pts out of 8:

4 * 3.125 = 12.5

· Assume:  FRQ 2:  4 pts out of 8:

4 * 3.125 = 12.5

· Total = 62.5 + 12.5 + 12.5 = 88 (Passing – Low 4)

2004 Example 2:

· Assume:  MC:  61 right & 39 wrong: 
[61 – (39 * ¼)] * 1.0 = 51.25
· Assume:  FRQ 1:  3 pts out of 8:

3 * 3.125 = 9.375

· Assume:  FRQ 2:  3 pts out of 8:

3 * 3.125 = 9.375
· Total = 51.25 + 9.375 + 9.375 = 70 (Passing – 3)

The average student earned a 4 on FRQ 1 and a 2 on FRQ 2.  That translates into a total of 18.75 points from that section.  Add that to your MC score to see your total.
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